Answers

1000mm = | metre
| metre = 1000m

loooml = ) litre
) litre = 1000m)

1) 1.2 metres = 1200mm, 1.03 metres = 1030mwm, l% metres = 1750mm, 1§00mm = 1.4 metres,
1020mm = 1.02 metres, 1SS0mm = 1.SS metres
2) 200ml<0.22sml, 175 litres > 1700ml
1) a) This statement is true. 2.6m = 2600mwm. The difference between 2600mm and 2060mm is S4omm.
b) Accept any two true statements and one false.
2) Accept any explanation that disagrees with the statement and identifies that the value
must be divided by 1000. For example, | disagree because | need to divide 1350ml by 1000
to convert to litres and then multiply by 4 or multiply 1350 by 4 and then divide by 1000.
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